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eral Instructions :
{ the following instructions carefully and follow them :

(i)
(it)

(iii)

(tv)
(v)

(vi)

This question paper contains 38 questions. All questions are compulsory-

This Question Paper is divided into FIVE Sections - Section A B CD
and E.

In Section-A question number 1 to 18 are Multiple Choice Questions
(MCQs) and question number 19 & 20 are Assertion-Reason based

questions of I mark each.

In Section-B question number 21 to 25 are Very Short-Answer-I (SA-I)
type questions of 2 marks each.

In Section-C question number 26 to 31 are Short Answer-1I (SA-1I) type

questions carrying 3 marks each.

In Section-D question number 32 tlo 35 are Long Answer (LA) type

questions carrying § marks each.

(vii) In Section-E question number 36 to 38 are Case Study / Passage based

integrated units of assessment questions carrying 4 marks each. Internal

choice is provided in 2 marks question in each case-study.

(viii) There is no overall choice. However, an internal choice has been provided

(ix)

(x)

1/1

in 2 questions in Section-B, 2 questions in Section-C, 2 questions in

Section-D and 3 question in Section-E.

)
Draw neat figures wherever required. Take n = 1__‘3 wherever required if

i

nol stated.

Use of calculator is NOT allowed.

NN Pa ge 3

P.T.t



g -

TR THE LIS R

3 wTZ p(x) F I F wwm k-
1. Wp(x)%fm}'=p(-ﬂﬁmﬁmmtlmm
y
X + O/?\_'I
/w_' y = plx)
(A) 3 (B) 1
C) 2 (D) O

9. k@ arura, raw fore wfeTol % U ke = v + 2 AW 6x = 2y + 3 & WA TR

(A) k=3% (B) otk
(C) k=-3%1 D) k=4%,

3. aRp-1,p+13M2p+3EAP GFARFITARE W w1 R

(A) -2 (By 4
(Cy 0O (M 2
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SECTION - A
(Multiple Choice Questions)

Each question is of 1 mark.

1. The graphof y = P(x) is

given, for a polynomial p(x). The number of zeroes
of p(x) from the graph ig

T
Y — O/\ *» X
/j.',. Yy = px)
(A) 3 (B) 1
(C) 2 (D) 0O

o
.

The value of k for which the pair of equations kx
has infinitely many solutions,

(A) isk=3
(C) isk=_3

=Y+2and 6x =2y + 3

(B) does not exist
(D) isk=4

Ifp~1p+1and2p+3arein A.P., then the
(A) -2

() o

value of p is
(B 4

(D 2

In whgy ratio, does x-axis

divide the line segment joining the points
A, 6) and B(-12, _3) 2

(A) 1.9 (B) 1:4
© 4 D) 2:1
nn Ve Vo VL Page 5

P.T.O.



5. @i st d, %% 0 A g W PQ uw wi-van & 1 A LAOB = 95° R, A LABQ
ﬂmﬁm:

(A) 47.6° (B) 42.5°
(C) 8p° (D) 95°

48in A +3cos A
: 2tan A=3R, & Lok ich
° TR 2 tan t 48in A -3cos A

7 1
A : B)
R R E
(C) 3 (D) dz it
7. ﬁWp(xJ=r"+,r—1*'@*u3ﬂt|}!.iﬁ&+%—mﬁ
(A) 1 (B) 2
-1
(C) -1 (D) Y
8. knnmmm,mmmmzﬂ+k.x_4=oisw&h:@g,t;
(A) +22 (B) 2
(C) t2 (D) V2
9. [%t&n23ﬂ°—s&c245°+amzﬁﬂ"|m3
(A) -1 (B) 2
6
-3 1
10. 5cméﬁrt%mimmmmm94_2cmftlmimaﬁﬁmt;
(n = 3.14 ¥ 1)
(A) 2cm (B) 3em
(C) 29cm (D) 6cm
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In the given figure, PQ is tangent to the circle centred at O.
If ZAOB = 95°, then the measure of ZABQ will be

(A) 47.5° (B) 42.5°
(C) 85° (D) 95°

48in A+3cos A o

. A=3,thent 1
6 If 2 tan en hevaue"fdﬂinA—ScoaAl

(A) 7'1% (B) 13
(C) 3 (D) does not exist
7. 1f a. p are the zeroes of a polynomial p(x) = x2+ x -1, then & +—16 equals to
(A) 1, (B 2
© -1 ®

8. The least positive value of k, for which the quadratic equation 2% +kx-4=0
has rational roots, is

(A) t242 (B) 2
(C) +2 D) V2

9. l:% tan® 30° — gec? 45° + gin® 60"] is equal to

A) -1 (B)

D= |

©) =3 (D)
2

10. Curved gurface area of a cylinder of height 5 cm is 94.2 cm”. Radius of the
cylinder is (Take n = 3.14)
(A) 2cm (B) 3cm
(C) 2.9 cm (D) 6cm

30/1/1 AN Page 7 P.T.(



11.

12.

13.

14.

15.

(Cha
412 fen o1 % 80 Frarfe g, o witgn 4, W °

;aﬁaﬁ?mimt

TS . j08%8 20?“5“ 30 % | i

Aokt O s 3 12 27 57 75 BE
FEE T AT TR | o

(A) 10 - 20 (B) 20-30

(C) 30-40 (D) 50-60

7 cm 3 39T 24 cm ¥ UE T &1 aF GG HAGA R :
(A) 528 cm? (B) 1056 cm?
(C) 550 cm? (D) 500 cm?

figxt 0. 2v5) s (-2 5. o) s Hizht:

(A) 2410 w=ré (B) 4410 =¥
(C) 2420 =18 (D) O weré

= & # & wgwe & T :52 :ﬁ‘kg!‘?
(A) 4x2-9 (B) % (8x2 + 4)

9
(C) 1-24-: (D) 5(8x2 - 4)

afe o |ifgad thmihmﬂaﬁq&nﬂm n atwst wr o

(A) wEErm Téi R (B) d3digfgmamfit
(C) #eHhrgawarht, D) 3n W gfzRarht

(A) ptg=1 (B) p:lq-.
(C) p=q-1 M) p+q+1=0
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The dtst nbutwn below g“ es the marks obtained b\ 80 studentq on a test :

" Less L\E'SS_T Less Less | Less Less
Marks than 10 than "0 than 30 thﬂn 40(than 50| than 60
'Number of Students\ 3 | 12 _27_ . 57 [_ % 80
The modal class of this dnstnbut;on s
(A 10-20 (B) 20 - 30
() 30— 40 (D) 50 - 60

b

The curved surface area of a cone having height 24 cm and radius 7 cm. 18
(A) 528 cm® (B) 1056 cm?

(C) 550 cm? (D) 500 cm?

13. The distance between the points (0, 2J6)and (-25.0) is

(A) ZJI_IJ units (B) 4-.@ units
(") 2J§5 units (D) 0O

— 2
4. Which of the following is a quadratic polynomial having zeroes — and ";

(A) 4x*-9 (B) ; (v + )

(C) r2+§ (D) 5(9x° - 1)

|5. If the value of each observation of a statistical data s increased by 3, then
the mean of the data

(A) remains unchanged (B) increases by 3
(C) increases by 6 (D) increases by 3n

16. PTOthi!ity of happenmng of an event is denoted by p and probability of
non-happening of the event is denoted by q. Relation between p and g is
(A) p+gq=1 By p=1qg=1
(7,} p=q-1 (M p+q+1‘=l'l

30/1/1 AN Pﬂgf‘ 9
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L7, 7 e o ah & B ih 3 g serm qraen A A
6000 23 farf 71, 1 et 3 e o2 WA A1 7
(A) 40 (B) 240
() 480 (D) 750

iy 0.08 & | af2 3w

18, 20 sufRwl & vw aqx 4, 5 sufer ko wwa £ | 7R o S areed 39 Ik, A

IE N gE ) wifgwan wnft
3 1
A 2 (B) 3
]
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(C) (A)®=k, o (R) ¥} |
(D) (A) 3@t xuf (R) a=a R |
19. sftmm (A) : fag P(0, 2), Tn 3x+2y=4 ﬁ!y-ﬂﬂmmﬁgt‘;
®T (R) : g PO, 2) B gl x.3m A 2 ywrf @ |

20. Afrewa (A): atrfhﬂﬁtzﬂ'qﬁgmmﬁcwmqmqﬁ&amtl

¥ (R) : 2 vftia @3 & aml & giree o i wwmn v R
A

2cm

=In|

Jem

30/1/1 NN Page 10



17. A girl calculates tha; the probability of her winning the first prize in a
lottery is 0.08. If 600 tickets are sold, how many tickets has she bought ?
(A) 40 (B) 240
(C) 480 (D) 750

18.

In a group of 20 People, 5 can't swim. If one person is selected at random,
then the Pmbﬂbﬂ“}' that he/she can swim, is

3 1

Fy - B —
(A) p (B) 3
1

Y 1 D)y =
(C) ( y

Assertion-Reason Type Questions

In Question 19 and 20, an Assertion (A) statement is followed by a
statement of Reason (R). Select the correct option out of the following :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
Both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of Assertion (A).
(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) is false but Reason (R) is true.
19. Assertion (A) : Point P(0, 2)
line 3x + 2y = 4.
Reason (R) : The distance of point P(0, 2) from x-axis is 2 units.

(B)

is the point of intersection of y-axis with the

20. Assertion (A) : The perimeter of AABC 18 a rational number.
Reason (R) : The sum of the squares of two rational numbers s always

rational.
A
2cm
.| C
B 3 cm
30/1/1 AN Page 11
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21.

22.

23.

24.

25.

gg-d
(v v & 3 oy el (SA-D) yen & e § e 2 S )

(a) m::am}.=_4mmmmﬁmml

L)
(d) g fafy & wam @, aw s o fas wn e et w6 P w2

x=0,y=-7

aﬂmi-xz'iBC.AZ=3cm.ZC=2cm. BM=3cm 3MMC=6cm#b |
XY !zt wra Hifd |

(@) U ainB+cosf= 3 R, A sin o *cos 0 %1 "7 WA Hifg |
g

. 1
(b) TR sina= N M cot p =3 Q.ﬁcuaecu+cusecﬂwmmm|

wy w¥-3-wft wan wa Wfrg e 85 3t 79 w8
Y ﬂmtﬁmm:ﬁuml}mg

T &R F 4w, 3 Aot ot 2 fich R K | o i 4 Pramreh
Rl
srrﬁmmmlﬁfarqﬁﬂﬁz(nﬁrﬂﬁﬁnmtl ™
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SECTION-B
(This section compriges of Very Short Answer (SA-I) type

questions. Every question is of 2 marks.)
(a) Solve the pair of equations x =3 and y = —4 graphically.
OR
() Using graphical method, find whether following system of linear
equations i8 consistent or not :
x=0andy=-7

2. In the given figure, XZ is parallel to BC. AZ = 3 cm, ZC = 2 cm, BM=3cm

and MC = 5 cm. Find the length of XY.
A

X 3 N

JT O\,

M

3. (a) Ifein@+cosB= J3, then find the value of sin 8 - cos .
OR

(b) Ifsing = 71.5 and cot B =./3, then find the value of cosec a + cosec B.

4. Find the greatest number which divides 85 and 72 leaving remainders

1 and 2 reapectively.

’5. A beg contains 4 red, 3 blue and 2 yellow balls. One ball is drawn
at random from the bag. Find the probability that drawn ball is

(i) red (ii) yellow.

30/1/1 AN Page 13 P.T.O.
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26.

27.

28.

29.

oo -1
(v weg & oy 3wt (SA-11) ywr & v § mﬂ"’""_”#"' N
2 Fwat % = wr a2 8 |wmﬂ3ﬂ‘mm‘?ﬁ“m 13

Ty €Y |
forz ®frg s V5 7 srafdg w5 f

AR (-5, 3) 3 (5, 3) T wTATE g & 21 ik K, 1 Arer vt & PrEee W i,
mwtftqﬂﬁgﬁp%m:ﬂmﬂh(ﬁ = 1.7 #fxg |)

(8) ¥z 0 I g W wrg faig T & 2 = -tamd TP stk TQ Wit ok § | fag £

fs «.PTQ = 2.0PQ.
P
[

' -

Q
JAGT]
(b) mwu%wcnﬂdﬁmt.ﬁnﬁzﬂzwlmﬁm-r
AB=20cm3ﬁtDs=3cmﬁI.mgﬁﬁﬁmmﬁﬁm I
D S

A

| ﬁzﬁﬁmﬂﬁ tan 0 +secB8-1 1+sing

1/1

"tanB-secO+1  cos @
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SECTION-C

(This section cOMpriseg of Short Answer (SA-II) type questions of
8 marks each.)

Half of the difference between two numbers is 2. The sum of the greater
number and twice the smaller number is 13. Find the numbers.

Prove that J6 is an irrational number.

If (-5, 3) and (5, 3) are two vertices of an equilateral triangle, then find co-
ordinates of the third vertex,

given that origin lies inside the triangle.
(Take V3 =1.7)

. (a) Two tangents TP and TQ are drawn to a circle with centre O from an

external point T. Prove that /<PTQ = 2/ OPQ.
P

 =>T

Q
OR
(b) In the given figure, a circle is inscribed in a quadrilateral ABCD in

which /B = 90°. If AD = 17 cm, AB = 20 cm and DS = 3 cm, then find
the radius of the circle.

Pm"’etha _tan6+sec8—1=l+sinﬂ
‘i tanB_secO+1 cosb

1 AN Page 15 P.T.C
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A room is in the form of cylinder surmounted by a hemi-spherical
dome. The base radius of hemisphere is one-half the height of

(1408 "

cylindrical part. Find total height of the room if it contains | 3
o1

3\
of air. (Take n= %

OR

3) An empty cone is of radius 3 cm and height 12 cm. Ice-cream is filled

L

o .. {1yh
in it so that lower part of the cone which is | 5 of the volume of

the cone is unfilled but hemisphere is formed on the top. Find
volume of the ice-cream. (Take n =3.14)

SECTION-D
(This section comprises of Long Answer (LA) type questions of

6 marks each.) ‘
If a line is drawn parallel to one side of a triangle to intersect the other

two sides at distinct points, prove that the other two sides are divided in

the same ratio.

tion of the top of a tower 24 m high from the foot uf
he same plane is 60°. The angle of elevation of the
from the foot of the first tower is 30°. Find the
distance between two tOWers and the height of the other tower. Also,
find the length of the wire attached to the tops of both the towers.
OR
oon of radius r

the angle of elevation of
t of the centre of the balloon 1s 2

(a) The angle of eleva
another tower in t
top of second tower

aubtends an angle of 60° at the eye of
its centre 1s 45" from the

(b) A spherical ball

an observer. If

same point, then prove that heigh

times its radius.
P.T.
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34. 14cmﬁmmmqaﬁwﬁmqﬂ%hﬂﬁﬁ"'“mm#'W“‘Zi{'ﬂ

WUE F WrEE w W | 3 dd g7 gog & fhet W 7w A |

35. (A AP ®alg@m TdRANgm 4R IWAP FARE21dTA
¥R WA faw | TS 5 w2 & am A 9’ 21 T & qm F Fgem
#ifar |
5L
(a) 25033 (logs) MAAF*udgayan @ I k.
qwR 4 areh ofd § 22 @123, 398 el ofd d 21 723, 38R e ofk 9 20
23, vt (smsfa 2fan) A 260 723 Reafl ofevdt G m o K Ao wed SO

ufd O fased agd & 7
(Example)
g - &
(8 g & 3 T od /ofredz sufa e § s s 4 36 € )
Y9 RN

36. A ad ) GF [ feamm @ aua, vw frwe 3 o o A w0 w0 & e W
A FA & o fedt fam e A s iy Ry w am @
S 18 cm 7 M 12 oo AR
I & 3R T = vt # 3w Afaw
(I)  Itrem I3 * Zoi aren v Wofta | fafg )

(11) &ma fram g w qaE w9 & fafege
(I11) w3 §u ®TY & 8 *0 B3 70fRY, ?

lHem

e - SR

Sl'.htm] 12 cm
‘- I‘hulu

— — 1| !
| t
|

.
&1 x & 18 9FEE 1A, TV QTEA & 220 cm” & QR e wE R o
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34. A chord of a circle of rad;
Find the area of the

0 : :

the area of the major Tresponding IINor segment of the circle. Also find

ratio of 5th tery to o lrm to 17 term of an A.P. is 3 : 4. Find the
0 21* term of the same A.P. Also, find the ratio of
to that of firat 2] terms.

(b) 250 logs are 8tacked in the following manner -

22 logs in t -
g he bottom row, 21 in the next row, 20 1n the row next to it

;md scll Ond(as shown by an example). In how many rows, are the 250
g8 placed and how many logs are there in the top row ?

(Example)

SECTION - E
(In this section, there are 3 case study/passage based questions.
Each question is of 4 marks.)
Case Study
36. While designing the school year book, a teacher asked the stgdent that
the length and width of a particular photo 1s increased by x units each to
double the area of the photo. The original photo is 18 cm long and 12 ¢m
wide. https://www.cbseboardonline.com _ ‘
Based on the above information, answer the following questions :
(I)  Write an algebraic equation depicting Ihi.?‘ pr\'ﬁ" mfc;rn:.tatmn.
(II) Write the corresponding quadratic equation in standard ﬁu;m.

(IIT) What should be the new dimensions of the enlarged photo
x |8 cm -
aa—— — T

School
Photo

-
——— OR .

P R
make the new area equal to 220 em*=

Can any rational value of X
. Page 19 P.T.O
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T 3R gftormt &t gern o faedwor w5 3 gz W | AR A mf anferer 39-tweEn
2018 % shwft (arrgm) =t (fy o, o) i #
i (mm#) | 39wt 0w
| 200-400
| 400-600
T 600-800 .
 800-1000 |
1000-1200
1200-1400
1400-1800
T 1600-1800 1
IR G & IR R, Pt et ¥ 3o ARG -
I wger & forfg |
(D) e sty w1 aramw wa #ifdw |
&)
v dam 3§ wi wren awf wm g |

(I1I) afe argm & drem § w7 @ ®1 1000 mm T AN J9-HES B ST wuf gren
375z 7T v R, A fawer 3q-wwet F e wei wi
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India i
meteorological department observes seasonal and annual rainfa)
eve in di gl
Iy year in different sub-divisions of our country.

It helps them to compare and analyse the results. The table given below
shows sub-division wise seasonal (monsoon) rainfall (mm) in 2018 :
Rainfall (mm) | Number of Sub-divisions |'

200-400 2 |

400-600 ‘ '

600-800
800-1000
1000-1200
1200-1400
1400-1600
1600-1800 - B

Based on the above information, answer the following questions :
(I) Write the modal class.
(1) Find the median of the given data.
OR
Find the mean rainfall in this season.

I11) If sub-division having at least 1000 mm rainfall during monsoon
red good rainfall sub-division, then how many sub-

L EILEIEI RIS

season, is conside
divisions had good rainfall ?

y1/1 AN Page 21 P.T.



5 mhthﬁmtﬁﬂﬁﬁ@ﬁaﬂmaﬁﬁmmmt | quefie T Fhet
BrEal

ﬁwhwmm&mm t|@3ﬁm,mmﬂ-}m%m
miﬁqmﬁmmtl

& i wrpfa A, % 0 A 3R 75 cmﬁmmﬁqamABtvﬁﬁqmmﬂ-’tmt,
ZABO = 30° 3t PQ || OA.
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The discus throw is & : : w

. 1 t i8 &n event in which an athlete attempts to throw a

discus. The athlete sp;j . . alf times
lete 8pins anti-clockwise around one and a half t1

hro 3 '
through a circle, then releases the throw. When released. the discus
travels along tangent to the circular spin orbit.

In .t.he given figure, AB is one such tangent to a circle of radius 75 cm.
Point O is centre of the circle and ZABO = 30°. PQ is parallel to OA.

Based on above information :
(a) find the length of AB.
(b) find the length of OB.
(¢) find the length of AP.
OR
find the length of PQ.

30/1/1 AN Page 23



